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General Instructions :

1. The question paper comprises of two Sections, A and B. You are to attempt both the
sections. i

2. All questions are compulsory

3. All questions of Section-A and all questions of Section-B are to be attempted separately.

4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

5. Question numbers 4 to 6 in Sections-A are two marks questions, These are to be answered
in about 30 words each.

6. Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

7. Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

9. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each

. Question is of two marks, : -
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HIAT-31 / SECTION-A

1 3wy Sl o = fofew 1

Name two unicellular organisms. -

2 et =] % sitwa am au 3ffwa = T W@ ST W1 B € A Ay weg Wi we @i L
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What is the numerical ratio of average velocity to average speed of an object when it is

moving along a sttaight path ?
e
3 o s wifen el & wen wfe S fan 3 Ea ¢ 2 1
P>
How are action - reaction forces related in magnitude and direction 7
Quak obpou' Ly
3 fops g s F AT crrmeil 6 uR o6 SRR [EEY 2
Show by a diagram the interconversion of the three states of matter.
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Mention the different components of blood in the following diagram ?

ood
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A stone and the earth attract each other with an equal and opposite force. Why then we see
only the stone falling towards the earth but not the earth rising towards the stone ?

o 75g =t e w0 F oI 15% (F=Am) S & e ¥ few diedl 9 smvsa e 3

How many litres of 15% (mass/volume) sugar solution would it take to get 75g of sugar ?

8 oot 3 it % < il 3 e g

@ ® = o w Y XD
State two properties of each of the following : 7 (, )’:
(a)  asolid (b)  aliquid () agas
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Define distillation. What type of liquids (substances) can be separated by this process ?

0/ g
/ =2l YRR 1 T AWiGa @ wWiae
=4
Draw a neat and labelled diagram of the neuron cell.

1 i 5 s e fef) i A v v Frofa d #2 i F e T g 3
fvmn 22

Name the constituents of phloem? Which of these are non living cells? What role does
phloem play in plants ?

12 1500 kg T TH T A zsm/sﬁanaaatﬂ%mAmf:mrﬁ 15 m/s % 9 & et 1000 kg F 3
3= T B A THA! T T 3 AR FAF A 20 m/s B A %7 B W THUA & 9@ AN T\
it |
Car A of mass 1500 kg, travelling at 25 m/s collides with another car B of mass 1000 kg travelling at 15

m/s in the same direction. After collision, the velocity of car A becomes 20 m/s. Calculate the velacity
of car B after collision.
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(a)  State Newton's First Law of Motion.

(b) The mud particles sticking o;ﬁhe rim of a bicycle wheel leave the rim of the
wheel tangentially. When it starts moving. Explain.

/ wF ViR A e faomaen & FEe 4 s § 28 m/s B Y e B 2 3
(a)  voE ol m R R |
(b) ¥ 9a ¥ a3 faeet g w3 wuf?

A powerful motorcycle can accelerate from rest to 28 m/s in only 4 s.
(a) What is its average acceleration ?

(b)  How far does it travel in that time ?

y T MY aw gail A fag A7 @ fag B 9@ g M At e A vt el amig v woea, 3
S fr R e &
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Ak/ 15m
0m

(a) @ B A w T g w7
(b)  w&f g A W wE g =M Y2
() 2 H A frge favyrm sfus §72

A cow and a bird both travelled from point “A” to point “B”. The cow travelled in a straight
line but the bird travelled along the curved path as shown below :
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A 15 m B

30 m

(a) What is the distance travelled by the cow ?
(b) What is the distance travelled by the bird ?

(c) Which one of them has more displacement ?

16/ et e v v rfarat e et &2 3
() TSH
(b) A
© B
On what factors do the following physical quantities depend ?
(a) Inertia
(b)) Momentum
(¢) Force
7, i % ITEARI & 6 FHH B Fraer N i e e un W, s i gl A oW w3
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(i) e e B & w ferferd
(i) WE'IGWWWWWWWWI
iy R ¥ g g 2 e e

Proper disposal of agricultural byproducts was a problem in the village. Santosh who had
come to his ancestral village during vacation advised the villagers to set up a poultry farm to
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overcome this problem. They accepted his advice and introduced certain exotic breeds to
increase the number and quality of eggs and meat. Their combined decision helped in
providing a balanced diet to all the villagers.

(i) Mention any two advantages of adopting poultry farming,
(i) Write name of one indigenous and one exotic breed of poultry.

(iif) ~ Mention two values shown by Santosh.

r"‘
18w o & R % A ¥ forg A st s ) R & e wpwE 3
e A W B A1 U SR 3ee & am fafa

State the conditions essential for production of the best quality of honey. Name a product
other than honey which is obtained through bee keeping,

mmﬁﬁfwﬁmﬁmmmﬁmt? s & weoil 1 quia ¥ foq waw s s
witam |

How can we obtain different gases from air? Draw the flow diagram to show the steps of the
process.

20/ foreit v & il 35 o e 1 e 5
fret % 4 & | el §2
i, steder, ¥i8, g, via, @m, sEm

State any three characteristics of the particles of matter?
Which of the following are matter?

table, oxygen, affection, milk, cold, thirst, salt,

2V (a) Pl ¥ ored v aen siafie faine 51 foafin R g e s
(b) @ E off o w A gfg & fom swarh saw w1 am fafao
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(a)  Show the diagrammatic representation of the location of lateral meristem and
intercalary meristem in plant body.

(b) Name the meristem responsible for the increase of girth of root or stem.

(c) Write two differences between meristematic and permanent tissues in tabular form.

22 (a) fﬂﬁwﬁamwmwno.uNtmv’Rﬁumq@% e W E S
1/6 TN &1 3 92t W g’ %1 W7 9.8ms 2 &, 1 wftwErT A

(i) SEH W ‘g’ & A
(i) e R =l W TeE
(i) 9@ W IN Al H IR

®)  FEW g W uE gl ¥ remm ok e B A few wer e §2 9w
Hifaw )

(a) A person weighs 110.84 N on moon, whose acceleration due to gravity is 1/6 of that
earth. If the value of ‘g’ on earth is 9.8ms 2. Calculate.

(i) ‘g’ on moon.

(i)  mass of person on moon
(iii)  weight of person on earth

(b) How does the value of g on the earth is related to the mass of the earth and its radius ?
Derive it. ' o

——

23 - (@) @ sRafya Fiteg fe fove F we g aes wmowvm fafta 5

(b) T SEH 80 N F1 & TN 50 kg FANH & AlF ) v @ &) wfw w5 owm s
HITT | 3T T8 ) 30 & fem 5w, & wnw e g 2

.
(8Y” Define force. State four effects a force can produce in a body.

(b) A man pushes a box of mass 50 kg with a force of 80 N. What will be the acceleration
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of the box ? What would be the acceleration if the mass were halved ?

P &

7

7" (a)  Whatis meant by composite fish culture?
/ (b)  Whatis the basis of selecting the different species of fish?

(c) Which method is used to get pure fish seed?
YM-"/SECTION - B

25 U e | fam 1y s w 7w g we & faso F 35 e # sttty wiee s 1
fove we wed X mrEn ) faeas w i aeEen el uiatiE i xe &
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(€ BiRWRE d) i gt
A substance X' was added to the test tube containing a mixture of arhar dal and water, to test
the presence of metanil yellow. The colour of the solution changed to magenta. X' is :

(a) conc. sulphuric acid (b) conc. hydrochloric acid
(c) conc. nitric acid (d) conc. sodium hydroxide
26 T A R I it 3uftafy w5 wiemr o & T R Y Y €, v v wm 1

() U e ¥ 39 % TR w58 A st
(i) @ Tl H W HCI 71 §9 42 Bifed |

(iii) 9w el | 10 mL 9@ Bifed )

(iv) 7 w@ ot ave feen e fremed
wftEnt:

@ (i) (iv), (i), (i) (b) (i), (i), (iv), (if)
() (i) (i), (iii), (iv) (d) (i), (iv), (i), (i)

Given below are the steps that need to be taken to test presence of metanil yellow in dal. But
these are not written in correct order :

(i) Take a small amount of sample of dal in a test-tube.

(i)  Add few drops of conc. HCl into the test-tube,
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(iti)  Add 10 mL of water in the test-tube.
(iv)  Stir the sample in water by shaking it well,

The correct order will be :

(@) (@) (iv), (i), (iii) (b) (i), (i), (iv), (i)
(e) (i) (i), (i), (iv) (d) ) Gv), ), (i)

27 HE FIE F O W U HESH WSS F Y AR T B G UM 040 TEFEE A w i 1

G
(a) HYH (by  ien
{c) ren- (d) &M

On strongly heating grey coloured iron filings with yellow coloured sulphur powder, the
colour of iron sulphide compound formed is :

(a) grey (b) yellow
(c) yellowish grey (d) black

3 Iron sulphide and a mixture of iron filings and sulphur powder were taken in different china

dishes. Which of the following observations is correct ?

Ty WEes 7
\\ PR e A \Ef,'.‘g&?}“f‘

SRS SEEES
\

\
Iron sulphide Iron filings + sulphur

(a) Both are heterogeneous.

(b) Both are homogeneous.

(¢}  Iron sulphide is homogeneous but the mixture of iron filings and sulphur is
heterogenenus,

(d)  Iron sulphide is heterogeneous while the mixture of iron filings and sulphur is
homogeneous.
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(©) uradel Best QU T
(d) T Best w

l In the following setup of heating apparatus identify X, Y, and Z.

Ve

X Y Z
(a) Test tube burner Test tube Holder
3: (h) Test tube holder Burner Test tube
(c) Test tube holder Test tube Burner
(d)  Test tube Test tu!ze holder Burner

30 mﬁmmmwaqﬁmwﬁmaﬁuﬁwmmtz
(a) e g =1 ot & wg @ fro)
(b) e feera @ ot A o T | wEE
(c) famrdt 7} e & wa fem ot | @
(d) 7 % werge 9 Far e it 3 T
While preparing temporary slide, the correct method of placing the coverslip on the specimen
is ©
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(a)  dropping the cover slip gently with hand
(b)  sliding the coverslip gently from the side
(c) placing the coverslip gently using forceps

(d)  placing the coverslip gently using a needle
31 Ffafes fom A A 9o B w1 wE e 1
A
:
\ B
X
¢

@ A-FTw, B-E3Re (b) A-¥Zwe, B-dfm
() A-dbIE™, B-HwH (d) A-¥3R, B-F2%

In the following diagram; the correct labeling for A and Bis :

(a) A - Nucleus ; B - Dendrite  (b) A - Dendrite ; B - Axon
() A - Axon; B - Nucleus (d) A - Dendrite ; B - Nucleus
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32 ﬁ&qmmvﬁl,zmatvﬁmm;iﬁ: 1

(a) iR Pt = el i sl fraw ®s
() e g @ e, g e, S w1 o
(© e e, it # oe, < i wt e
(d) are = e, e g i ae, foe €3

In the following diagram the respective correct labeling of 1,2and 3 is:

(a) China dish, wire gauze, tripod stand
(b) China dish, tripod stand , wire gauze
(c) tripod stand, wire gauze, china dish

(d) wire gauze, china dish, tripod stand

33 iR gen fom fagia wad s g ae 1
(a) qamnﬁmi:mﬁqu
®) 2w fda e
@ = i g
(d) o fe o o
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The spring balance works on the principle of :

(a)  Newton's first law of motion

(b) Newton's second law of motion

(c) Newton's third law of motion »
{d) All of the above

34 ﬁm#wmﬁmﬁm:A.B,camoﬁvfaiaﬂaramm,sfémwm.m2
e G freed e fom W widl 4 o oTed @ AR weRdl 9 wes
ardfas faeram, Ferea qar sz faemm 3 w9 o @it

Rima took fine chalk powder, egg albumin, starch pawder and alum powder in four test tubes
A.B, Cand D respectively. After adding water to all the four test tubes, identify the test tubes
as true solution, suspension and colloid.

35 wmmﬁmﬁamtmmmmmmmmmmwmm? 2
HA AT WS T & fer etz Y wet feufr @ dE nfe 7

What should be the temperature range of the mercury thermometer to be used for determining the
melting point of ice? What is the correct position of the thermometer to get accurate reading?

8 A student recorded the mass of dry raisins as 3g and the mass of raisins after soaking in water
as 4.8p. Calculate the percentage of waler absorbed by raisins. Write one precaution of this
V4 experiment.
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Page j&of l['.

http://jsuniltutorial.weebly.com/



